Chapter 9 Linear Equations and Inequalities
Ex 9.1

Solve the following (1 to 9) equations:
Question 1.
i2(3-2x)=13
(i) 35y —2 =710
Solution:
(i) 2 (3 — 2x) = 13 (Remove group symbol)
6 —4x=13(Transposing 6 to R.H.S)
dx=13-6
Aw=7

=4

¥
(i) sy-2=15

Multiplying both sides by 5, we get

.
3y—10=— x5

10
3y-‘:0=%
3y=%+10
(Transposing — 10 to R.H.S.)
T+20
3y = 5
27
3}’=—2—
_2P 9,1
YEax3 - 2°72



Question 2.
¥ X
() > =5+ 3

3
(i) Z[I—E]= 11

Solution:

) 5=5+3

3
Multiplying both sides by 6, we get

x X
Z =6l 5+=
6> 3 6[ 3]

3x =30+ 2x
3x — 2x = 30 (Transposing 2x to L.H.S.)
x=130

(i) 2[x~—;-} =11

Removing group symbols,
2x-3=11

— 2x=11+3
(Transposing — 3 to R.H.S)
= 2= 14
14

xz?z'?

Question 3.

() 7(x = 2) = 2 (2x — 4)
(i) 21— 3(x = 7) = x + 20



Solution:
7(x-2)=2(2x - 4)
Removing group symbaols,
Ix—=14=4x-8
Ix—4x=-8+14
(Transposing 4xto LH.S. and -14to RH.5)
3x=06
X=2.
(21 -3 (x-7)=x+20
Removing group symbaols,
21 -3x+21=x+20
=247 -3x=x+20
=-3x-x=20-42
(Transposing xto LH.S and 4210 RH.5)

Question 4.
1
{;)3::—--}:2(::—5)+5
. 2m om
A T

Solution:



2
Removing group symbols,

3xv-%—=2[x-l)+5

1
~—=2x-1+5
3x 3 x-1+

Multiplying both sides by 3, we get

9x—~1=6x-3+15
Ox—1=6x+12
Ox-6x=12+1
(Transposing 6x to L.H.S and — 1 to R.H.§)
Ix=13
1
x=3 =43
o 2m o m
U= =T

Multiplying both sides by 15, LCM of 3
and 5,

2m m
lﬁx-g-—lﬁx;-=?x15
10m — 3m = 105

Tm = 105

1053
m=———=
7

15

Question 5.

x+1 x-7
ool S =1
0] 5 3

o 3p—2 p-2
(i) = i

Solution:

2



x+l_x—7

@ 5 -
Multiplying both sides by 10, we get

= ]

o D LU

1 5 2 I %10
2x+2-5x+35=10
2x—5x+37=10
-3x=10-37
—3x=-27
N
x= 3=
~ 3p-2 p-2
W) —5—-"g—=

Multiplying both sides by 28, we get

28(3p-2) 28(p-2)
7 T4
4(3p-2)-T(p-2)=56

Removing group symbols,

12p-8—Tp + 14 = 56

5p+6=>56
S5p=56-6
5p =50

=2 x 28

Question 6.
() 5 (x+5) - 5(x~2)=4

o 2x-3 x-5 «x
#) —g—=—5—=%

Solution:



() 5 (x+5)-5(x-2)=4

Removing group symbols,

l + i - l + _2_ =4

i M Tl B
Multiplying both sides by 6, L.C.M. of 2 and
3

6 30 6 12
CL N L

Ix+15-2x+4=4x6

x+19=24

x=24-19=35

2x-3 x-5 x

6 2 6

Multiplying both sides by 6, LCM of 6 and

2,

6(2x-3 6(x-5)
6 2
2x-3-3x+15=x
2x-3x+12=x
-x-x=-12
-2x=-12

(i)

X %6
= — X
6

Question 7.
. x-4 x+4 x+3
) F———=5=3
x-1 x-2 x

(i) —5—+ =g +]

Solution:



x—4 x+4 x+3
03573
Multiplying both sides by 35, the L.C.M. of
7 and 5,

35(x—4)  35(x+4) _ 35(x+3)
7 5 7
5x—20—7x—28=5x+ 15
—2x—48=5x+ 15
—2x—-5r=15+48
~7x=63

63
X = e
.,

e o] . P X

=9.

Multiplying both sides by 30, the L.C.M. of
5,2 and 3,

30(x-1) g 30(x-2) _ 30x
5 2 3
6x—-6+15x-30=10x + 30
21x-36=10x + 30
21x—-10x =30+ 36
11x =66

x=?—6=6

+30

Question 8.
(y+12y=44
(i) 15% of x = 21



Solution:

Hy+12y=44
22y=44

4.4 _44x10
y=as = =2
22 10x22

(ii) 15% of x = 21

15x 3x
_—= 21 —_— =
2 J0 T =%
By cross multiplication, we have
3x=21 x 20
3Ix =420
420
x =——=140,
3
Question 9.

()2p+20%of (2p—1)=7
(i) 3 (2x — 1) + 25% of x = 97
Solution:



(i) 2p +20% of (2p— 1) =17

20
2p+—x(2p-1=17
= P+mﬂ><( p-1)

=>2p+%(2p—l}=7

Multiplying both sides by 5, we get
S5x12p-1)
5
10p+2p—-1=235
12p=35+1

12p = 36

Sx2p+ =Tx3

() 3 (2x— 1)+ 25% of x = 97

25
6x -3+ xx=97
= MmOt R

:>6x—3+~}:c=97

Multiplying both sides by 4, we get
2x - 12+x=97 x 4
25x - 12 =388
25x =388 + 12
25x = 400

YT o5 T

Question 10.
Find the value of p if the value of x* — 3x3 — px —5 is equal to 23 when x = -2.




Solution:

w=-2

¥ -3 —px-5=23

= (-2)*- 3(-2)* - p(-2) - 5=23
=16+24+2p-5=23
=35+2p=23
=2p=23-35=-12

=p=-5



